D.AV. INSTITUTIONS, WEST BENGAL ZONE
MID TERM EXAMINATION
SESSION: 2022-2023

Class: VIII Maximum Marks: 80
Subject: Mathematics Time: 3 Hours
General Instructions:
(1 All the questions are compulsory.

(i) The question paper consists of 33 questions divided into 5 sections A, B, C, D and E in 4 pages.

(iii)  Section A comprises of 10 questions of 1 mark each. Section B comprises of 9 questions of 2 marks each.
Section C comprises of 8 questions of 3 marks each.

Section D comprises of 8 MCQ (Case Study based) of 1 mark each and Section E comprises of 4
questions of 5 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in three questions of 1 mark
each, three questions of 2 marks each, three questions of 3 marks each, and two questions of 5 marks
each. You have to attempt only one of the alternatives in all such questions.

(v) Use of calculators is not permitted.

SECTION -A
1. How many non-perfect square numbers are there in between 2500 and512.
2. Evaluate: 3/(—125) X (—216). 1
3. (@) Inthe figure l || m. Find y 1

4
4
E |

OR

(b) In the figure line AB IICD and line EF is the transversal, if ZEPB=50° find 2PQC.
E

P —
c /Q D

3

Find the value of (V3 — V2)(v/3 + /2) using suitable identity.
An article is marked at Rs 940. If it is sold for Rs 799, then find the discount percent.
Write the greatest two digit perfect cube number.

N oo g A~
Nl

Find the value of k if x and y are in inverse variation:

X 52 k
y 35 28

8. (a) If the volume of a cube is 0.000001 cm?. Find its length of each edge. 1
OR
(b) The area of a trapezium is 125m?. Find the sum of its parallel sides if its height is 5m.

9. How many faces and edges does a tetrahedron have? 1



10. (a) Write the coordinates of a point which lies on the 1
(i) X-axis
(ii) Y-axis
OR
(b) What is the distance of the point P(4,2) from Horizontal axis?
SECTION-B

11.(a) Find the smallest number by which 6750 be divided so that the quotient will be a perfect cube. 2
OR
(b) Find the smallest number by which 6125 must be multiplied to obtain a perfect cube.
12. (a) Oranges cost Rs 72 for three dozens in a super market. What is the cost of eight oranges? 2
OR
(b) If 15 men can repair a road in 24 days, then how long will it take nine men to repair the same road?
13. Manjit bought an iron safe for Rs 12160 and paid Rs 340 for its transportation. Then, he sold it for

Rs 12875. Find his gain percent. 2
14. In the figure, if ABJ|PQ, find the value of y . 2
A P
Yy
59 59°
B Q
15. Two cubes of side 4 cm are fixed together. Find the volume of the new solid formed. 2
16. Evaluate:’ /”j 2
1.029
17. Find v/11025 by prime factorisation method. 2
18. (a) Factorise: 64x? — 81y? 2
OR
(b) Evaluate (19.9)2 using suitable identity.
19. In the given figure, if ABJIDE, ZBAC=35° and 2CDE=53°, find 2DCE. 2
A B*
D E
SECTION-C
20. Find Y/175616 by estimation. 3

21. (a) Find the least number which must be added with 7581 to obtain a perfect square. Also find the
square root of the number obtained. 3
OR
(b) Find the greatest four-digit number which is a perfect square.

22. A dealer allows a discount of 16% to his customer and still he gains 5% .Find the marked price of the

product which costs him Rs1200. 3
23. (a) If the length of each edge of a cube is doubled, how many times does its volume become? How
many times does its surface area become? 3

OR



(b)The volume of a solid right circular cylinder is 448mcm?3 and height is 7 cm. Find its total surface

area.
24. Find the product using suitable identities: (x + i)( X — i)(x 2+ xiz)( x4+ x% . 3
25. In a camp, there is enough provision for 500 students for 30 days. If 100 more students join the camp,
for how many days will the provision lasts? 3
26. (a) Draw a line segment of length 6.3 cm and divide it into five equal parts. 3
OR
(b) Divide a line segment AB = 6 cm in the ratio 2:3 internally.
27. The following table gives the distances travelled by a car at various time-intervals. 3
Study the table and draw a linear graph for the same.
Time 6am 7am 8am 9am
Distance ( Km) 40 80 120 60
SECTION-D

28. Case Study |
The given graph shows the flights of an aero plane.
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Based on the above information answer the following questions (any four): 4
I.  The co-ordinates of the point B is
(a) (1000, 60) (b) (1000, 50) (c) (60, 1000) (d) (50, 1000)
I1.  Up to what height the aero plane rises?
(@) 1100m (b) 1000m (c) 50m (d) 20 m.
I11.  How much time did the aero plane take to go from the point B to F?
(@) 70 min. (b) 80 min. (c) 120 min. (d) 50 min.
IV.  How long was the plane in level flight?
(@) 50 min. (b) 130 min. (c) 120 min. (d) 70 min.

V.  How long did the whole flight take?
(@) 70 min. (b) 130 min. (c) 120 min. (d) 100 min.



29. Case Study 11
There was a land near a locality in the shape of a trapezium ABCD. The residents of the locality, with the

permission of the concerned authorities decided to fence the land and convert it into a park with shady
trees, plants and small herbal garden. The length of the parallel sides AB and DC of the land are 12 m and
28 m respectively and the non-parallel sides AD and BC are of equal length which is 10 m. The Park is
divided into three parts by drawing two altitudes AE and BF.

A 12 m B

E 28 m F
Based on the above information, answer the following questions (any four): 4
l. What is the perimeter of the park?
(@50m (b) 60 m (c)40m (d) 70 m
1. What is the length of DE?
(@ 16 m (b) 6 m (c)8m (d)10m
M. What is the length of the altitude of the trapezium ABCD?
(@ 16 m (b) 8 m (c)10m (d)6m
V. What is the total area of the triangular portions?
(a) 48m? (b) 36 m? (c) 42 m? (d) 24m?
V. What is the area of the trapezium ABCD?
(a) 160 m? (b) 120 m?  (c) 240 m?  (d) 200 m?
SECTION-E
30. Atrain 210 m long took 12 seconds to pass a 90 m long tunnel. Find the speed of the train. Hence find
how much time will it take to cross a platform 790 m long? 5
31. (a) Factorise the expression: x 2 + y? + § +2xy — Yz — 2x. 5

Hence verify for x = % Y= i and z = 1.

OR
1 . 1 1
(b) If x2 + = = 27, find the value of (x - ;) and(x4 + x—)

32. (a) John sold an article to Peter at 20% profit and Peter sold it to Mohan at 5% loss. If Mohan paid

Rs.912 for the article; find how much did John pay for it? 5
OR
(b) By reducing the selling price of an article by Rs50, a gain of 5% turns into a loss of 5%. Find the
original selling price of the article.

33. While arranging 335250 plants in a garden in such a way that each row contains as many plants as the
number of rows, 9 were left over. What is the number of plants in the last row of the arrangement?
Also find how many rows are there in the arrangement? 5
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fear ST ar &A1 g Ig W A gesi oelar § | f9Ae A ¥ &y
A AT AT A Fa7 e & |
(i) 37TeT #AIa frad gefad g ?

() dcod H

(@) IHAHR &

@) o= &

(87T) ol MaeTHhdi3T o

(it) 3T HIST Urehfcieh TATEAT T JANT Fohaeh fIT T @T & ?
() AT FHedoT & foIv

(@) 3 e & forw

(a1) FATST A g@-glawur & faw

(&) 9=l g@-glaar & faw
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(ifi) ATST eaRT A ITASHR FIeT T FeT FROT 4T AT ?
() 3Tl 3TaRFRAT I et

(@) STARSITT T ATdAT

(31) T Tfee T Srerdr

(&) q@E’T Y A=A & STATEAT AT

(iv) P=faf@a & @ F9 W [T &1 3@ =48 R@ar & 2
() Rfecar o

(@) IR &7

(a1) dTepfdeh HJord

(&) Irarard

(v) 3UAEFT A H FEH 39FF MH ¢ |

(%) AT & d6d heH

(@) grhfds FarerT

(31) IAATT HesT

CIREEIGECIREIC]

fArfaf@a ez I et g T weal & 3 faf@u-

afedl & a1g 74 HATST & i H IR §A Ugell Had 9611 ol 30

4 §AS & AT & fau o gd ofig i g wifgwl wraEw, S

g7 & U °RT 3R BIST-gISr AWl §, aiig &l ¢ delel T HIHAAT oo

& W R AT g Al T Ad-fAAT | geRT el 3R SREEAT @

Ja-fFA0T | FIS AHE ST GHT TG A ThdT | IWT & W Flerarar

dr, ST 38 ®H FH IS H gUEY AT & | S TH FAT Wom &

IO &1, Ueh o7 A & 3feqd, i aneridt & oy g, gerdieat

T 3o | [SAd QT et T AT T @, oIl wgelsd e

arEeAT o g | Wl FHABT F gy, W aHest F g | 3eF & fow

IR ART FATST ool W@ §- AT ofig &1 8¢ fher § 2 3 &

sAlstareit T Ig geilar § !

(i) ‘ieat & aTg 7T FATS T Fioe H T HEhd o@h o FIT Hehdl
AT TTET 872

() TIATAT I & 9T HT ARG HATS

(@) FIAAAT Wt & qd 1 HARAT FATS

(31 T G a§ F AT HT AT FATS

(&) Uk & a¥ & qd & T4 qAS
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o

(i) 1T A Siig T § FH GAT FAT foRaT IAT 72
() FHAIT-TIT &rer & fow
(@) I 3R Fell Tl & T
(@) g-forHor ¥ st &1 g & faw
(&) gfdre R A g ¢ & fav
(iii) =T gATT & AT & fow o sAig T 5¢ ARy, Si-
(@) e AT SROT § IIfOIT &
(@) Th FAA AT F AT &
@n) TRt & gHeA &
() gorfedl & @ &
(iv) FTeier H 22T & sAistart I aar goAldr & =T g2
() e T Y
(@) FHeIA FHgellel
@) arEAT T Fefed
(&) sfig & §T defer HT
(v) IR 3 frer o 1 gisrerd ae g% B2
(&) sfig # 3¢ a1t & fow
(@) 39T T U GaT A F forw
(3T) IR FoTod 3N FHeAT Fgeld & foIw
(€) IMI-AE-FRATA & AG-[dHT FA & foT
gs- ‘@
(F) PFfaf@a g & 3T TIE W 3R @1 R demse-
dehed

(@) fArfai@d e & 3RT T W 3w &1 e demse-

JHEIT
() ird QU 910 ereet # T o 3T §T FT 9INT RIS |
IMgh
(@) Y feT 7T ereel A 3T TUT W FFAN(.) FT T RTST |
N,
(F) R U & dgd ¥9 @y
(@) ‘Fler e FI dcdd & fAfQU|

‘TE’ UAse F o TIIART UAse AT
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10.

11.

12.

13.

14.

15.

(@) T 398 7 Hel Asq SNSH AT g TSV |

(@) sfere ewg # 3T ToIT F N7 WA §U AT AT AT |

eIfa@d areanen & e e
ST IS 3TORTEr o &7 |

eree, fof@T |

A fGU 1T Sfaaras @1 8 Haarde el §eI8U-

EOCH

() ArAfaf@a eaeg $r dfe HifFv |

gfa + T

(@) ‘FIcaa Use, &1 AY-faTde o |
3T HRTa arT R TUeT A1 qfcd RS |

31T & AT FoATd Sfcdd &1 391

A H e A 8 |

ffaf@a ag # 3fa Ave-fea aems-
§H Teh &1 FaTel GET 31TeT HTefisl &1 & g1t &
feAfaf@d arerg &l g e alaRT fafge-

#H 3o a2 e AT § |

(@) A& g 9fFd A Jgad HelhR HT ATH AT |
HIT HT &1 I¢ ¢d IR-IR ¢ |

(@) T8t T ST Sl ST d6l-

STEY g ar, Jan

TG el AT foh ag alh-diAT &
3P BT & |

(31) “3TITE’ AT IYAT IHelhR FT Uh 3eTe0r fAf@e |

gs- A

fArafaf@d gemer &I ggat QU 1T et & 3car faf@u |

93 TR & AT 9T

IUEH H Ul FT goaT 35k H
ool FHgh ol T A |

Fls TMEY AGT AHed
e AT do

YIS @lel, INH gaT &

gear & off Tggd-uge 3¢ o
MY FoA T A A
IRAT & AlGH H |
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16.

17.

18.

19.

20.

() P TTUEH H 6y RE e 30T ¢ T ?

(@) ‘gear &1 o ggoT-ugd 3¢ A v FAr AT § 2

(31) IRA §AT Hd doh doldl gar & ?

ffaf@a & & fredl g weal & 3cak 25 & 30 erser & faf@u |
() FOR T I HJST T FIT THEG ISl § ?

(@) gfarar o SR A d¢ AT 3% JTSET ST & ? Hd ?

(31) QUGN HAAT F Hfd A Fail P ‘AT & A HIAR' FAT Fgl 872

HiadT ‘A8 & fhE 37er o 3mgsr werfad forar 3k F=4t 2
372rar

WA o s a1 1 JoraT e U gy & FhT g2

fefaf@a sz & e g feu 3w geat & 3car fof@e-

SoTer B TR TERA W A B o IR W A A s

U anfeandt s gt &t R o &, 3R o & 3

ARGIC AT HATSY Ao AT, 37 W 3G AT of@ld | igaradr &
faelE ¥ 339 THR 3daT s ol o & Har 5 & & & 3
aEa Uil § gferg amar ST o | AR e 7 nfeartaAt @ wE

@r a7 F IS ¥ I8 W T ¢t AR AfAw FT arel i o @
qre | 3 B Fer A g5 HRAT AUy o A | AARE T K
3G T HEAT H ATelel g3 |

() 3Mfcard ford W 3Reh AT oFd & ?

(@) U=t @ gford =247 smer Sl o 2

(3T) HARTA ] & hE IGA T TEAT  qTelel 37T ?

(7) TR AsE T A FABT |

RArafaf@ad & O freel diF U= & 3ca¥ 25 ¥ 30 2leer & faf@u |

3

) Al 7 fa Ig @ FT FAT FROT AT ?

q) T S PRI A7 39T FH ThR Adhd A?

1) gSIET Y FFT T dR PIcad I bl i@ FAT dh ed g ?

T) MARTA o dgdiclgR JTgd I 39T a1d 9 JHSS ?

frafaf@a & & freer ar weal & 3caX 30 & 40 eear & fAf@v |

() STcTIcT T hell & 337Td A FRIEIT egichd 8 3ol g1 X
qrdr 4 ?

(@) ‘el St Faed 3UCYUF AT A, FHAIARN ¥ AT ffST |

(31) ATE o ERT & 3cddl ST & Yid FT IdeR FoT T FAT Foll ?

N~—

(
(
(
(

~—
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21 3reorlt ART W[ 7 AR el & 3cHTE R YER SerT ?
‘AT F @h T8’ UTs & IR W fAf@u |
3727t 4x1=4
STdAIT T FHel’ U1S & ITUR W TASC AT b IS arddid 4
Jcdeh HATIT T AT HHT g
gs- ‘W
fPrafaf@d & & Rl v v @ (80-100 ersel #) 3rede fRRAT - 5y1s
(F). GG @ S A1 g5
Hehel f8g - HJsT Teh AATGH IOf, TSHET T Hged d Haed,
gq- g@ # G Hr AIaelm
(@). dsT EIGTUT- Ueh ATl
Hehl f8g- S{fAT, AT H Tl 1 HGLThAT, TATEROT HJolol
& foT ae, SfiaeT &1 3R, fAsey
(31). HSAT ISUIAT : STeTary IRAAT HT HET HROT
Hehel Toig - S{fADI- HHST ISUIAT YerTa, §eTd, forsepy|
23. 2r 9y 3iAs Yels & 9ald 3 A Hafad & & Pezmea sme
o E | 3 fAWY WX U IHqeT HIST R U I AT aean/gA
&I (80-100 2rset #) g faf@u |
31t
QeI H ST Tocdeh 3R IRRT Ha= & 39e faererd &
THTATEITTeh Pl Teh 97 ToIfQU |
24. WRERfdsd TR I 3T A FTo-Gad & T R g dlel 3cRie dre-
faare gfaafarar & fow (30-40 wsat #) eredl A Fae faf@u|
372197 5x1=5
TR AT, 15 Coell & 3R & 9% &7 H Hifds Sereor fAfaR
wmmmw%lmmﬁﬁﬁaﬁamysﬁ
fawg & @efd (30-40 ersel &) va I IR AT |
25. foe@merd & w1t weTm A gAY & IO AR HfFH1GH & fT gU
JrdTelld & Halg & ¥9 # faf@u |
372197 5x1=5
BT i Fgcdr uhe w&gﬁfﬁﬁﬂ”f%éﬁ@’rl‘%mdu‘idﬁaqm$
7 H faf@u |

22.

5x1=5

*khkkkkhkhkkkikkkikkik
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
MID TERM EXAMINATION
SESSION 2022-2023

Class: VIl Maximum Marks: 80
Subject: Sanskrit Time: 3 Hours
fAdam:

1. 3ITEA YIS TcdR: @UsT: Fied|
2. 9fa@UsH 3O JUF YecdhH SccRYedehral od= 1T |
3. Y% GUsH HfUhcT 3ccaIOT AU @A |

4. 9AT 3ccRMOT o AGAATA |
5
6
7

. RATSEIT JATATIR AT |
. @UsHsEdT AT oI @eaT|
. AT geaAus fFeufa: uear: afed)
gus: - ‘F (AUfSd - dqaaH) 10
(1) 3Irenfaf@d sreger afScar JecauRa=e Scavior FFpaa foad |
Teh: ATV TIRIETh: A | J&T F: Saedd: HAHAQ dar
UhH JgH AGIIRVH T | T: Jg:  NMHAJETET IR0 HelaaT:
I | 3¢ To¢dl H: AINETh: o geH AT - Hael fhAdH
gUT IRHH FAFT ? FeT TW: geT: wiasafd der sare] sfaa: &
Aasafa | gg: aed, - Halel TR Tdlel gaTle] | TANIH HRIqoy
LT & & W IE Bl WA | TgAT AH IRTARET JaTET
el 3y WiiesAfed | der &feh: FReadd - 38H 3T gafre]
IRARAsA |
() TFRT 3caid | ( Fael TRAGTIH ) 1x2=2
(@) &: IFR=aTd Id &: AT FeTe] IRIAsITA?
(@) AIRI&Th: higer: THI?
() &: JGH HGIIRYH I ?
(1) qoTarEe 3caid | ( Fae WRAGIIH ) 2x2=4
() TIRRETH: J&A fhA 3FUTd ?
(@) g€: HEA Fd HeloeT: T ?
(31) F: IHYIA ? “AHA IRTVAET FaTET el 3y WiesAfee |”
(1) FAERMSTARSA, SeaeT| ( Fael TATIH ) 1x3=3
(@) ‘HaFT 3T YT GIIYS Ieiend Fear foeqd|
(i) 3fa=aad (i) Feea: (i) Toear
(@) ‘TeT UW: geT: Bfasgfa’ fEA ared 3egave fha?
(i) gaT: (i) Tw: (iii) Jar
(1) ‘FETgeve 3fd yery faawore fha?
(i) 379RA (i) TIRI&Th: (iii) JEH
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(7) ‘Teh: HITIRIUT: TIRETH: IS AeA aerd fohame e

HfET?
(i) T (i) A (iii) TIRIETR:
(IV) 37 FeTedeE Fd 3R ofds fAma | 1x1=1
gUs: - ‘W (WWACAF - A ) 15
(2) TEHFAET Hged UGS FEfAA i IrNfaf@d o Aso@mT yeeaa:  ¥4x10=5
Il
134, Afgolr
IAZIGE
af
o & |
TEg AATH: |
3T () TAE] | e HAT d9 A WeaH | (i) dd
FAlcal 3¢ Yool 3aH | A 3eg 3% (i) T FEpasmmr:
v 3r96H| dEhRasT A (iv) ST AT | 38T
arfgcad Hid (v)___ 3T&T | r&Eam faemer: (vi)__ 3gfade:
HET | FERIHNRITH (vii) ATdogagA AT J=2m: 3
afed | 3 defRie-faeara: 31 (vii) Hecad, Tigdfed |
3 3¢ HYANA I cdd HARGNNT TEHAATIET: (ix) T |
AR AR T 77 (x) fodead |
da faas
Jold:
GES AL
TERATAYY |, ACHIN: , YTeATAT, FHAeTH
faemers , FETTAH , YUTHAS , FEHAET
ey |, FagEds
(3) o T™gAT ASSNAT ecdUerl WeRIadT W¥Hpda ysaarFTiay 1x5=5
fE=q|
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EE R

a

get: , $aAH , aIdIaRVTH , ¢A:, EH , TG,
feafa |, afed |, gRar: |, gearior

3rYaT
srenfaf@ar #soT Toear e T velfe e Fartidarr: femewar
sfa fawas sftscy weawsrd gsaaafa faaal

LES AL

BufSe:, auifor, #@a, A, w@rehadan, ¥R | #feor,
gfelds , TF

(4) srafaf@afa aeafa arpasmAT A Foar fwa | 1x5=5
(Faer TAISTRH)

%) & faearers ST @1 g | (I am going to school.)

) JHA 3T F4T 9eT ? (What did you read today?)

a1) # @@l Wefam | (I shall play there.)

) 9 vfdfeeT g qdr § | (He drinks milk everyday. )

) JH HeT T Stell | (You always speak the truth.)

) ag &% Sl (She will go to the house.)

o) H A9 TEhd Tedr| (We all will read Sanskrit.)

g @ g

(
(
(
(
(
(
(

gUs: - T (ATUIFAATHIVIH) 25
(5) ATy YEEfFaveE ¥ityg wftedeue ar fRAaal 1x3=3

(Faer TATTH)
(%) FeT: Hcameaed AT Feardyere IRaa |
(@) g _+ _sfega: As™: aedficds va fassfa & |
(a1) or&HT: FAMARAT e a1 Jeved |
() AeArg: A9 IRdar|
(6) WecdiaFedsy: FHRG eewy fArear Y Reavaenfa qraa| 1x4=4
(Fae SRAIEIH)
() HFar: TRl |

@iy = (i) Tr&ATT (iii) I
(@) 377 FGIfese _ safd |

(i) e (i) wor (iii) Torfer
(1) e Sl Goed g |

(i) oI (iiyereram (iii) ora:
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() ____ g SeaRe A |

(i) A7 (ii)378 A (i) #ATH
(3) Tl ITS JoU: |
(i) caq (i) gare (ii)) IIH

(7) rNfARBTEERY FTEITS 3UYFd ATEAEEF AEFAUE Adedsd:  1x3=3
Rcar fo@a |(Faea qeT7a#)
() I - gfaAf@arar _ @mEn 318 | (35)
(|) WQT

(Ef) _ 3egt gmaa: | (2)

(8) mﬁmﬁg ygFal faufdd acpror 7 fwa (Faa weaaqeeasn) 1x4=4
(F) STel: R I Teoled |
(@) TA:_TXA$A: Mol TSI |
(@1) &: eI A HroT: IHET |
(&) 99: Rem @y oAt |
(3) I o= Shaet afEd|
(9) WecdiaFedsy: FHRG arqey Rear ary Reavaenfa g« 1x4=4
(e SRAAEAH)
() a9 897 |
(i) 319 (i) TIRIH (i) 3rIRIH
(@ e " |
(i) acf& (i) agu: (i) darA
(a1) ot SToreht e TR |
(i) wTUrEfa (i) U (i) e
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(12)

(13)

(9) A5a: SFel: wEr |

(i) o3 (i) oo (jii) oreTay
(3) Rz 1% I

() @ad (i) Fad (jii) aed

YarsfFadeEr vFfa - veadt ey sy a1 oad|(Fae weeTags) 1x3=3

&) dTclehl: Wel__+ Fcdl JHeoAT: Hdled |

q) ST UTH A + & + &Y IE Iofed |

M) o IfSedr 5 T |

H) §: 5@ T + A+ oqY B HUN |

#souTa: 3faH, sreaave Rear a Ay Reavyrenta @aa ol
T faE@d|(Fael TATTEIH)

(F)cd __ IBE ?

(
(
(
(

(@) 3T IR |

(3T) Pl AT |
() da gdiem _ ofasgid ?
(3) EcIH S|

hel, gaEdd: , TG, $, Td

XEEfFaaey 39wd wAeT feea a1 fwa) (Fae waaqgsea#)

gus: - ‘w (YfSd-3raee=d )

renfaf@a arqamer afsear weamam scaufor el
AN 3oleh HGIIEWT: 3] HEMN: EAToe: AY Y@ I dfeAe]
HTel HATS 3HeAchT: FIAAT: TSI HHA JUT- Heeriaeary:, E-
31fR1eT, STIfdarg:, SfAYAT Scey:| Uan: Al HaRTe dewsd T
TARI, AEY: AR §4F IHHAQ| FAHIET A= & T 9fag
Iy Feardyuered T IRaare| AW gaeee: 3rda s
31T 3Tl
() THIST Icald - (Fael TeAEaIH)

(F) A eTetee: & RdaeT?

(@) AN gTedeg: Hreer: AHAT?

(1) FGT: T A ?
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(I) qofarEe 3o’ - (Fdd TRAGITH) 1x2=2
(&) AT caelee: FEd AR FET 3HHAT?
(@) FeY: AT Fe HT: FAAT: Jafedr: 32
@) frad & ey IRdar?
(1) FERMTERA, 3eae - (Fael TRAGaIH) 1x2=2
(@) HRA 3HeAeh HAGIYTNT: 3Tl A aTeFy ‘o7t 3
forardesy sque fohe 2
(@) ‘FB: caelee: I IRTa IRFHA Iy ‘FeN: e’
A geA: faersaue foha?
(@) IRE T - IAAT: ggaAT: faRworag fRA?
(14) rNfAf@d ool IfScar W=t 3ca’d| 5
ARlefa ferfar e s
aa: gareafa fgy aanfa Hifd,
geugarfa: 99 & 7 FAfT qum)|
() THIST Icald— (Fad TAGTIH) Lx2=1
() FeasaTfa: SaeT ara F {safar
(@) HeHSITT: HF STl hifel dalfcr?
@) Temsafa: f fgerfa?
(1) qutareRe Scatd—(&de YeAeTIH) 1x2=2
() Feasatfa: saeT F sfa?
(@) FcasaTid: fhaA raeRfd?
(31) dd: T FAEATA?
(Il) s FEA- (Fae TeAGTIH) Ix2=2
(@) Jfead gsdl FeHsAd:3A Hueed fhame fha?
(@) eellh I IGET &: GAT: HETd:?
@M & & FAT qaw 37 3eag o e, HEq?

(15) srenfaf@d aArcamr afscar weam scaufor faad| 5

OTE: - TR | 36 IEATH: FEDI-TaVI TehT TReAleady Jifarar
e

W-#{Uﬁa?ﬁmz gIraY: faorerdr 3f&d| ue: wifelgraad: 3w
T HEae: A’

JUIT: - ThEd I 3ol PifoigrIddn: GrEdfd| 3O IR I HHaHT:
Scd RS Td|

AT - FEFAHA' 3 Te8 T F: 37 ?

faeara: - ‘g, URShAA 3id TEpaueEd 3 RET |
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(16)

() THYSHT 3ol - (Fad TRAGIIH)
(F) FT ggar: gerar: faserar afea?
(@) BT: & AT ?
(@) ‘Y&’ 3fd FEF yeeT IA:?
(1) qoTarEe 3caid - (Fa TRAGTIH)
(&) BT HIEAT AT Feadlcadl mANTAAT?
(@) gaar: g AfRU HF &2 ?
(31) THET YT 3ccR & graTa?
(1) FRERATARSA, el - (Fael WeAGIIH)
() T 3ET geeg faQvor fha?
(@) ‘Treata ‘g fhareed wque fend 3REa?
(31N) “THT Ul 37T AEAA arerd fasgue fhe?
E@IFfFduerta 3Ty TRATAAT Fdeq I( Fael TeTATEIH )

Ao Heaqal forad|
() THAOTH' olifherdEhaed AMEH: T=y: HTET |

(@) ‘3rserearYy sfa caeoey gflg: Je: 3Rd | aifoife: O a8

JorT |
(1) ArEr: - MAH | 3Hcld GeelH AT Hcl# |
(&) TRreaTerats AT WREEH, FeH |
e

o

fof@as, sreamaes:, @iyar, gy
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(18) 3rufaf@a edlier ufsear Asowe: 3Rawd: Reavraenfa e o 1%x4=2

g fAEdl

ad saeq gﬁﬂ'z,

ad Feq fATeam:|

qd sreTior 9T,

AT FREA, GEHT A |
3=y - §d ()___ Hdeq , |d (i)___ T, | (ji)___ 9T ,
hIREA G AT (iv)___|
Ho>oluT

o

$dd, HgIoT, ﬂ‘@ﬂ IGRGRIE

(19) #soia: FAfRquerfa Rear srfaf@age: smard @ider frgal 1%x4=2
faear gerfa faerae |
Frarey: - faear a1 () Oewar Jeefa | S ()
AT IeAafed 3d: (i) W (iv)___ AT P |
EET A

o

(20) srefaf@afa aEafa FymFAEER ST QUi et ol Y2x6=3
() FArsHebT! TehrT: JOr ATAT I8 A e7ac]
(@) 3EREGAT TTH HIhET TERT HFUTd A Flh: dioold: JHAd|
(a1) TSTeRTel SIehET HicchaT: & ASeH A
() &Teh: TTH T &d AT EdH |
(3) AT hreh: Tchd T IRV o IHTTo|
(1) Tehar $NVOT ISHAI FAT YSHHA e

%k %k %k %k %k %k %k k
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
MID TERM EXAMINATION

SESSION: 2022 — 2023
Class: VIII Maximum Marks: 80
Subject: Science & Technology Time: 3Hours.

General Instructions:
1. This question paper comprises four sections A, B, C and D .There are 36 questions in the question paper.
All questions are compulsory.
2. Section A consists of question number 1 to 20. These questions are very short answer questions, MCQs
and Assertion — Reason questions which should be answered in one word or one sentence. They carry one
mark each.
3. Section B consists of question number 21 to 26 .These are short answer questions which carry two marks
each.
4. Section C consists of question number 27 to 33 .These are also short answer questions which carry three
marks each .
5. Section D consists of question number 34 to 36 .These are long answer questions and carry five marks
each .
6. There is no overall choice in the question paper. However, internal choice have been provided in some
questions. A student has to attempt only one of the alternatives in such questions.

SECTION - A

1 During dry weather, while combing hair, sometimes we experience hair flying apart. Name the
force responsible for this.

OR

Two objects of masses M and 2M are lying on an equal area of contact. Determine the ratio of
pressure exerted by them on the ground.

2 Ankita runs her toy car on a dry marble floor, a wet marble floor and towel spread on a floor.
Arrange the force of friction acting on the car on different surfaces in decreasing order.

Name the factors on which fluid friction depends .( Any two factors )
If a car moves eastwards, what will be the correct direction of frictional force acting on it?
Give one point of difference between strong electrolyte and weak electrolyte.

o o A~ W

Name the electrodes at which oxygen and hydrogen bubbles are formed during electrolysis of
water.

7 What type of energy transformation takes place in a voltaic cell?

OR

Name the scientist who introduced the (scientific) world to the phenomenon of electromagnetic
induction.

8 None of the fuel is a clean fuel. Comment.
OR
Name the petroleum product used for ‘dry cleaning ‘of clothes.

9 What is kindling temperature?
OR

State any two characteristics of an ideal fuel.
10 In leaves, name the cell organelle and pigment that is responsible for green colour.
11 Inacell, where are the genes located?
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17

Name the process in yeast that converts sugars into alcohol.
In the soil, which nutrient is enriched by blue-green algae (cyanobacteria)?
OR

What is rancidity?
For question numbers 14 to 16 ,two statements are given — one labelled Assertion (A) and the
other labelled Reason (R).Select the correct answer to these questions from the codes (i), (i),
(iii) and (iv) as given below:

(i) Both A and R are true and R is the correct explanation of A.

(i) Both A and R are true but R is not the correct explanation of A.

(ili)  Alistrue but R is false.

(iv)  Alisfalse but R is true.
Assertion (A): Fossil fuels will get depleted someday.
Reason (R): Fossil fuels are exhaustible sources of energy.
Assertion (A): Leucoplasts are colourless plastids.
Reason (R): They play a role in photosynthesis.

OR

Assertion (A): Smooth endoplasmic reticulum is associated with synthesis of proteins.
Reason (R): Smooth endoplasmic reticulum does not possess ribosomes.
Assertion (A): A vaccine produces immunity to a disease.

Reason (R): It stimulates the production of antibodies.

Q.No0.17 -20 are case study based questions and contains five sub parts each. You are expected
to answer any four sub parts in these questions.

Read the following information and answer any four questions from 17 (i) to 17 (v) :

There is a popular story that one day, when Newton was sitting under an apple tree, an apple fell
on his head, and this led him to think about the force of gravitation. Newton, upon observing an
apple fall from a tree, began to think along the following lines: - The falling apple is getting
accelerated; there must be a force acting on the apple .He called this force as gravitational force.
The weight of an object is a measure of the gravitational force exerted on that object by the
earth.

17(i) The force responsible for falling of ripen fruits from the tree to the ground :

(@) Frictional force

(b) Magnetic force
(c) Electrostatic force
(d) Gravitational force

17(ii) Which one of the following forces is a contact force?
(a) Force of gravity
(b) Force of friction

(c) Magnetic force
(d) Electrostatic force

17 (iii) A force which acts on an object without coming physically in contact with it is called:

(a) Contact force
(b) Balanced force

(c) Unbalanced force
(d) Non-contact force
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17 (iv) It is the measure of the gravitational force exerted on the object by the earth:
(@) Mass
(b) Weight
(c) Acceleration due to gravity
(d) None of these

17 (v) SI unit of force is
(a) M/S?
(b) M/S
(c) Newton
(d) (d) Pascal

Read the following information and answer any four questions from 18 (i) to 18 (v) :

Look around and you will find that vehicles, moving on the road, come in a variety of shapes
and designs. These different shapes and designs are constantly evolved and developed by car
engineers and designers. Their attempts not only make the car look beautiful but also reduce the
effects of air friction when they move on the roads. Racing cars, which have to move really fast,
are given a very different shape.

18 (i) A streamlined flow of air ,over the surface of a vehicle ,
() Increases air resistance
(b) Decreases air resistance
(c) Cannot bring any change in air resistance
(d) None of the above

18 (i) The force of friction can be reduced by using
(@) Qil
(b) Grease
(c) Powder
(d) All of these

18 (iii) The shape of an aeroplane is like a
(a) Dog
(b) Bird
(c) Car
(d) Motorbike
18 (iv) Which of the following statement is not correct about a racing car?
(a) Move very fast
(b) Got a streamlined shape
(c) Their special shape reduces the air resistance
(d) Their special shape increases the air resistance
18 (v) Friction due to fluids is called
(a) Force
(b) Pressure
(c) Drag
(d) Drop

1x4=4
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20

Read the following information and answer any four questions from 33(i) to 33(v)

The increasing fuel consumption has harmful effects on the environment . Fuels like wood, coal,
petroleum release unburnt carbon particles on combustion. Burning of wood gives a lot of
smoke which causes air pollution and is also very harmful for humans. Combustion of most
fuels releases carbon dioxide in the environment. Increased percentage of carbon dioxide in the
air causes global warming. Incomplete combustion forms carbon monoxide gas. It is very
poisonous gas. Burning of coal and diesel releases sulphur dioxide gas. It is an extremely
suffocating and corrosive gas.

19. (i) Combustion is a:
(@) Physical process.
(b) Chemical process
(c) Addition of CO2
(d) Mechanical process.
19. (ii) Coke on combustion produces:
(@) Carbon dioxide and water
(b) Oxygen and water
(c) Only CO2
(d) Only oxygen.
19. (iii) The substance that undergoes combustion is said to be:
a) burning
b) flame
c) charcoal
d) combustible
19. (iv) Burning of charcoal in a closed room will produce:
(a) carbon dioxide
(b) nitrogen dioxide
(c) carbon monoxide
(d) all of these.
19. (v) The gas responsible for acid rain is:
(@) carbon monoxide
(b) nitric oxide
(c) sulphur dioxide
(d) nitrous oxide.

Read the following information and answer any four questions from 20(i) to 20(v):

Every cell has atleast three features, i.e. plasma membrane, nucleus and cytoplasm. All the
activities inside the cell and interactions of the cell with its environment are possible due to these
features. Plasma membrane is the outermost covering of the cell that separates the contents of
the cell from its external environment. It allows entry and exit of some materials in and out of
the cell. The nucleus is the dense and spherical organelle. It plays a major role in cellular
reproduction. It controls all the metabolic activities of the cell. The cytoplasm is a jelly-like,
colourless semi-fluid substance inside plasma membrane. It contains specialised cell organelles.

1x4=4
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23
24
25

26

20 (i) The cell organelle ,which acts as a storage bag for a cell ,is known as the:

(@) Chloroplast
(b) Chromoplast
(c) Mitochondria
(d) Vacuole

20 (ii) The nucleus is separated from the cytoplasm by the:
(a) Cytoplasm
(b) Nuclear membrane
(c) Cell membrane
(d) Protoplasm

20 (iii) Which one of the following term is not a part of the nucleus?

(a) Ribosome
(b) Nucleolus
(c) Chromosome
(d) Gene

20 (iv) A suitable term for various components of cell is:
(a) Tissue
(b) Cell organelles
(c) Chromosomes
(d) Gene

20 (v) The jelly like fluid substance present in cells is called:

(@) Protoplasm
(b) Chloroplast
(c) Cytoplasm
(d) Chromosome
SECTION-B

Differentiate between balanced and unbalanced force .(any two points )

Give one example each to show that friction is both a friend and a foe.
OR
You might have noticed that when used for a long time, slippers with rubber soles become

slippery. Explain the reason.
Why are coal and petroleum called fossil fuels?
12.5 kg of fuel X produces 50000 KJ of heat on burning. Find the calorific value of the fuel.

Which cell organelle is known as the “power house of the cell “? Why is it so called?

What is the role of bacteria in increasing the soil fertility?



SECTION-C
27 Give reasons for the following statements —
(@) School bags are provided with wide straps to carry them.
(b) Mountaineers may suffer from nose bleeding at high altitudes.
(c) It is much easier to burst an inflated balloon with a needle than with the finger.
28 List any 3 observations while we do this activity shown in the given diagram.

e e L )

29 State two uses each of the following :
(@) Coke (b) Coal tar (c) Coal gas

30

a) Name the process by which the above product is formed. Define the process.

b) Give the name of the lowest and highest grade of the above product. Which grade will contain
65% carbon?

31 What are the three essential requirements to produce fire?
OR

Define combustion. Write any two differences between spontaneous and explosive combustion.
32 Identify the parts A,B,C from the given diagram of cell.

A (dots)
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34

35

36

Ramu bought samosas from a road side vendor and ate it. After sometimes he felt nausea and
started vomiting. He had severe pain in the abdominal region and suffered from diarrhea.

a) What could be the reason for his condition?

b) What is it called?

¢) How could it be prevented?

SECTION-D

Define electroplating. How can steel spoon be plated with silver? Explain with the help of
diagram.

Wax candle

i) Identify the different zones of a candle in the above picture according to hotness ( a, b, ¢) and
colour (d, e, f)
1)Why is water not used in controlling electrical fires?
How can we prevent the following diseases? Write one method of prevention for each disease.
(@) Cholera
(b) Malaria
(c) Ringworm and athlete’s foot
(d) Tetanus
(e) Typhoid
OR
What are antibiotics? What precautions must be taken while taking antibiotics?
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
MID TERM EXAMINATION
SESSION: 2022 — 2023

Class: VIl Maximum Marks: 80
Subject: SOCIAL SCIENCE Time: 3Hrs

General Instructions: -
Read the following instructions carefully and strictly follow them.

Question paper comprises five sections — A, B, C, D and E. There are 36 questions,
and all are compulsory.

Section-A — Question No. 1 to 20 are very short answer type questions, carrying 1
mark each.

Section-B — Question No. 21 to 27 are short answer type questions, carrying 3 marks
each. Answer to each question should not exceed 80 words.

Section-C — Question No. 28 to 29 are source-based questions, carrying 4 marks each.
Section-D — Question No. 30 to 34 are long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

Section-E — Question No. 35 and 36 are map based carrying 6 marks with two parts
35 from History (2 marks) and 36 from Geography (4 marks).

There is no overall choice in the question paper.

Attach map along with your answer book.

Section - A

Which among the following is not a British Document? 1

(A) Morley-Minto reform
(B) Simon commission
(C) Arms Bill

(D) Anandmath

The Khasis revolted against the English under the leadership of 1
(A) Bar Manik and Tirut Singh

(B) Sidhu

(C) Birsa

(D) Kanhu

Read the following extract and answer the guestion given below: 1

Following the 1857 Rebellion, the East India Company’s rule in India came
to an end. Queen Victoria’s Proclamation of 1% November 1858 declared
that India would be governed by and in the name of the British Monarch
through a Secretary of State. The policy of ruthless conquests and
annexations of Indian territory was given up.

Queen Victoria’s Proclamation in the year 1858 was:

I. To disclaim the intention to annex Indian princely states.
ii. To place Indian Administration under British Crown.
iii. To regulate East India Company’s trade with India.
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(A) Only option i is correct
(B) Only option ii is correct
(C) Option i and ii are correct
(D) All are correct

Which one of the following is NOT a physical factor of land utilization?

(A) Mineral Resources
(B) Climatic Condition
(C) Social Requirements
(D) Topography

Spiny, Waxy, Small and Leathery textured leaves are common in the-
(A) Temperate Softwood Forest

(B) Monsoon Forest

(C) Mediterranean Forest

(D) Tropical Evergreen Forest

Identify the statement which is correct regarding ‘the Making of Constituent
Assembly’.

(A) Constituent Assembly was formed with indirectly elected members of
the Provisional Legislative Assemblies.

(B) Constituent Assembly was formed with directly elected members.

(C) Constituent Assembly was formed by freedom fighters.

(D) All are correct.

Identify the Directive Principle based on Gandhian philosophy.

(A) To promote International Peace

(B) To organise Village Panchayats

(C) To promote heavy industries

(D) Equal pay for equal work for both men and women.

Select the option which does not match with Fundamental Duties.

(A) To defend the country and render national service when called upon to
do so.

(B) To uphold and protect the sovereignty, unity and integrity of India.
(C) To strive towards excellence in all spheres of Individual and

collective activity so that the nation constantly rises to higher level of
endeavor and achievement.

(D) To serve equal pay for equal work for both men and women.

Which one of the following statements about Lok Sabha is NOT correct?
(A) Money bill can only be introduced in Lok Sabha.
(B) Its members are elected directly.

(C) It cannot pass no-confidence motion.
(D) The normal term of Lok Sabha is five years.
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10.

11.

12.

13.

14.

15.

16.

How many members of Lok Sabha are elected from Union Territories? 1

(A) 20
(B) 50
(C) 10
(D) 15

Write the slogan given by Bal Gangadhar Tilak. 1

In the question below, there are two statements marked as Assertion (A) 1
and Reason (R).

Read the statement carefully and choose the correct option.
Assertion (A): The leadership of the 1857 revolt was neither strong nor
gave direction to the rebels.

Reason (R): The Indian rulers fought to liberate their own territories and
did not think about the freedom of the whole country.

Options -

(A) Both A and R are true, and R is the correct explanation of A.

(B) Both A and R are true, but R is not the correct explanation of A.

(C) Ais correct, but R is incorrect.

(D) Ais incorrect, but R is correct.

In the question below, there are two statements marked as Assertion (A) 1
and Reason (R).

Read the statement carefully and choose the correct option.
Assertion (A): Agricultural production is mainly depending upon the
fertility of the soil.

Reason (R): Remains of the dead or decomposed plants and the animals
provide humus to the soil.

(A) Both A and R are true, and R is the correct explanation of A.
(B) Both A and R are true, but R is not the correct explanation of A.
(C) Ais correct, but R is incorrect.

(D) Ais incorrect, but R is correct.

‘England is not a republic’ — State why. 1

State any two safeguards mentioned in the Indian Constitution for the Yo+
upliftment of the minority people.

In the question below, there are two statements marked as Assertion (A) % +%
and Reason (R).

Read the statement carefully and choose the correct option.
Assertion (A): The Fundamental rights are justiciable and are protected by
the court.

Reason (R): The Fundamental Rights protect citizens against the misuse of
power by the government or some institutions.
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17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

(A) Both A and R are true, and R is the correct explanation of A.
(B) Both A and R are true, but R is not the correct explanation of A.
(C) Ais true, but R is false.

(D) Ais false, but R is true.

Identify the Fundamental Rights which has been violated in the following
situation —
Q) If the Government decides not to promote an officer of the
armed forces because she is a woman.
(i) If a group of people are not given permission to open a Telugu-
medium school in Kerala.
“Many a times, the government does not strictly follow the policy of non-
interference with religious matters and practice.” Justify the statement with
one example.

The Parliament is empowered to remove the President, the judges of the
Supreme Court and High Court.
Name the procedure adopted for this purpose.

Enlist any two functions of the speaker of the Lok Sabha.

Section - B
Identify the changes in the political scenario of India which marked the
dawn of Modern Period.

Explain the socio-religious causes of the revolt of 1857.
“Utilization of the resources depends upon various factors”-Explain.

“Wildlife is important for its aesthetic values and ecological balance.”
Justify the statement by giving three suitable arguments.

“India has single integrated judicial system”—Justify the statement.

“At times it appears that India is not really a federation but a unitary state”
— Comment.

“Our Fundamental Rights are not absolute or unlimited.” Support the
statement by giving three examples.

Section - C
Read the given extract and answer the following questions -

In August 1897, Birsa Munda along with 400 of his men armed with bows
and arrows attacked the Khunti Police Station.

In 1898, on the bank of the river Tanaga, the Mundas faced a British force
which they initially defeated. Further action of the British however resulted
in the arrest of many of the tribes” men and women. In January 1900 an
unwanted incident occurred in Dombari Hills where many men, women and
children were killed while being addressed by Birsa Munda. He himself was
arrested in Chakradharpur forest on 3 February 1900.0n June 1900 the
great hero died in Ranchi jail.

In several tribal areas of Orissa, Bihar, West Bengal, and Madhya Pradesh
his name has become household word for his bravery and patriotism.

Page-4

Yo+ Y2

Yo+ Y2

1+1+1+1



29.

The sacrifice made by Birsa Munda, and his tribesmen did not go in vain. In
1903 a survey of the land was carried out. In 1908 the Chotanagpur
Tenancy Act was passed which provided some relief to the tribals. The
bonded labour was banned. Their ownership rights of the land were also
accepted with some conditions.

i) How many tribesmen accompanied Birsa Munda when he attacked
Khunti Police Station?

(A) 500

(B) 400

(C) 450

(D) 550

i) Where did the great hero take his last breath?
(A) Chakradharpur forest

(B) Dombari Hills

(C) Ranchi

(D) Khunti

iii) In several tribal areas of central India Birsa Munda became popular
because of his-

(A) Bravery

(B) Patriotism

(C)Only b

(D) Bothaand b

iv) The Chotanagpur Tenancy Act of 1908 banned-
(A) Bonded labour

(B) Ownership rights of the land

(C) To assemble with arms

(D) None of the above

Read the following passage and answer the following questions-

Around the world, depletion of natural resource is taking place on an
alarming pace. The management of resources is essential both for social and
economic development of the people. Managing our natural and man-made
resources such as forests, water, grasslands, marine and agro-ecosystems is
of great importance today. The management of natural resources can take
place only through considering the importance of human resources. Today
many ecosystems are also under great stress on account of either overuse or
inefficient use of resources. Resource depletion and degradation are today
important issues at the national as well as the global levels. Many policies
of governments are introduced to weigh the economic efficiency of natural
resources. These policies must consider the needs and requirements of
future generations before the existing reserves of resources get exhausted.
India has made 10 per cent ethanol mix in petrol mandatory from 2007.
This is an excellent example of natural resource management because
petroleum and natural gas presently in use in automobiles come from fossil
fuels which are limited in supply.

i) The management of resources is essential for-
(A) Physical development

(B) Intellectual development

(C) Social and economic development

(D) Moral development
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30.

31.

32.

33.

34.

35.

36.

i) Which one of the following is responsible for great stress on our
ecosystem?

(A) Overuse of resources

(B) Inefficient use of resources

(C) Optimum use of resources

(D) Bothaand b

i) Many government policies are introduced before the exhaustion of
resources to fulfil the needs of-

(A) Present generation

(B) Future generation

(C) Silent generation

(D) None of these

iv) Fossil fuels are the example of-
(A) Potential Resources

(B) Renewable resources

(C) Non-renewable resources

(D) Flow resources

Section - D
“The impact of our national movement for freedom and international
developments opened the gates of modern industries in India.” Justify the
statement with suitable example.

“The revolt of 1857 proved to be the first great struggle for freedom.” Give
five arguments to support this statement.

“In recent years Multipurpose River Valley Projects came under a lot of
criticism”- Analyze.

Highlight any two differences between Tropical Evergreen Forest and
Tropical Deciduous Forest. Mention any three steps to conserve the
wildlife.

Mention any two advantages of Universal Adult Franchise. Highlight any
three dissimilarities between Lok Sabha and Rajya Sabha with respect to
their composition.

Section - E
On the outline political map of India locate and label the following.
(A) The epicenter of the Revolt of 1857.
(B) The place from where Rani Lakshmi Bai led the Revolt.

I) Two features A and B are shown in the political map of the world.
Identify these features with the help of following information and write
their correct names on the lines marked on the map.

(A) A high rainfall area of Africa

(B) A Forest type in North America.

I1) On the same political map of the world locate and label the following:

(C) Tropical Rain Forest of South America.
(D) Area of low rainfall of Western Australia.
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
MID- TERM EXAMINATION
SESSION 2022 — 2023
Class: VIII Maximum Marks: 80
Subject: English Time: 3 Hours
General Instructions:
. The question paper contains THREE sections — Reading, Writing & Grammar and
Literature.
1. There are 14 questions in the question paper.
1. Attempt questions based on specific instructions for each part.
Section — A (Reading) (20 marks)
Read the passage given carefully and answer the questions that follow: 1X8=8
(1) A peculiar problem is affecting the century-old successful conservation of the
endangered one-horned Asiatic rhinoceros at the Kaziranga National Park Wildlife
protection area in Assam, which is of high concern these days.
(2) The 430 square kilometer area of the natural park on the southern bank of the river
is now home to about 1800 rhinos, besides other animals. According to wildlife
experts, this is a high-density rhino population by any standard. Like Kaziranga,
another tiny wildlife sanctuary called Pabitora near Guwahati has 75 rhinos, a
situation that can be called overcrowded. Currently, there are at least 2,000 rhinos
distributed over wildlife protection areas in the state.
(3) In order to tackle the unhealthy situation of Kaziranga and Pabitora parks being
overpopulated by rhinos, the State Wildlife and Forest Department have drawn up an
ambitious plan of rhino translocation with aid from the World Wide Fund for Nature
and International Rhino Foundation. The program is called the Indian Rhino Vision,
2020.
(4) The basic objective is to increase the state rhino population spread across at least
seven wildlife protection areas to 3,000 by the end of the year 2020, as well as to
reduce the burden on Kaziranga and Pabitora Parks through translocation of the
endangered animals to new habitats.
(5) Initially, about 30 rhinos will be translocated in Manas National Park and
Biodiversity Zone in north-west Assam bordering Bhutan from the over-populated
Kaziranga and Pabitora sanctuaries.
(6) The department has also worked out a detailed plan covering aspects like security
reinforcement, infrastructure development, and habitat assessment in Manas Park
before actual rhino translocation is started. Evidently, this is the first time that such a
large-scale translocation is taking place in the history of rhino conservation.

a) Which problem in Kaziranga National Park is of high concern, these days?

b) What has been decided by State Wildlife and Forest Department to solve the
problem?

c¢) How can this decision help Kaziranga to solve the peculiar problem?

d) State the basic objective of the program, the Indian Rhino Vision, 2020.

e) Which other aspects would be brought under the detailed master plan of sorting out
Kaziranga’s problem?

f) Fill in the blanks: The rhinos will be translocated in and in north-west
Assam.
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g) State true or false: Initially 40 rhinos would be shifted to their new home.
h) Find a word in paragraph 3, which means ‘showing a strong desire and
determination to succeed’.

Read the passage carefully and answer ANY TWELVE questions.

1. Overpowering prey is a challenge for limbless creatures. Some species inject
venom like Russell’s viper. Some others opt for an alternative non—chemical method
— rat snakes, for instance, grab and push their prey against the ground, while pythons
use their brawn to squeeze their quarry to death. But snakes can’t be neatly divided
into venomous and non-venomous.

2. Even species listed as non—venomous aren’t completely devoid of venom. The
common sand boa, for instance, produces secretions particularly toxic to birds. It
constricts its prey and injects venom for good measure.

3. There is a constant tussle between the predators and the prey. While the predators
try their best to kill most efficiently, their prey use any trick to avoid becoming a
meal, such as developing immunity to venom. The predators then think of some other
ways. For instance, Californian ground squirrels are resistant to Northern Pacific
rattlesnake venom.

4. Competition with prey is not the only thing driving snakes to evolve more and
more toxic venom. Snakes also struggle to avoid becoming prey themselves.

5. Some snake predators have partial immunity to venom. Famously, mongooses are
highly resistant to cobra venom, and with their speed and agility, kill snakes with
impunity. It would be the death of cobras as a species if they didn’t evolve more toxic
venom to immobilize mongooses.

6. Venom has another important role. It’s an extreme meat tenderizer; specific
enzymes disintegrate the innards of prey. Normally, a reptile depends on the sun’s
warm rays to aid digestion. Venomous snakes have an advantage: enzymes in venom
digest the meal from the inside before it rots in their guts.

7. But I wonder if we cannot use venom in our favour. In remote parts of India, local
hospitality often involves leather—tough meat. | chew and chew until my jaws ache. If
| spit it out or refuse, our hosts would be offended. Eventually, | swallow like a
python stuffing a deer down its throat and hope | don’t choke. If only I had venom.

i. Russell’s viper and rat snake have different methods to attack its prey. Explain.
ii. What is the method used by pythons to overpower its prey?
iii. How does sand boa kill its prey?
iv. Why is there a constant tussle between the predators and the prey?
v. How do the snakes guard themselves against their predators?
vi. “I swallow like a python stuffing a deer down its throat and hope I don’t choke.”
Explain the given line.
vii. The pythons use their brawn to squeeze their quarry to death. The word, ‘brawn’
in the given line means :
Choose the correct option to fill up the blank.
a. teeth
b. eyes
c. muscles
d. fangs
viii. With reference to paragraph 5, pick the option that lists the characteristics of
mongooses.
1. Impunity
2. Partiality
3. Agility
4. Venomous
5. Immobile
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a. land?2
b. 1and3
c. 2and5
d. 3and4
iX. Read the two statements given below. Statement 1 is an Assertion (A) [statement
of fact] and Statement 2 is the reason (R) [explanation for the assertion].
Based on your understanding of the passage, choose the correct option.
Statement 1 (A): Venom is an extreme meat tenderizer.
Statement 2 (R): It has specific enzymes to disintegrate the innards of prey.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Alstrue, but R is false.
d) Aisfalse, but R is true.
X. Read the two statements given below. Statement 1 is an Assertion (A) [statement
of fact] and Statement 2 is the reason (R) [explanation for the assertion].
Based on your understanding of the passage, choose the correct option.
Statement 1 (A): Cobras secrete more toxic venom to immobilize mongooses.
Statement 2 (R): Mongooses are not highly resistant to cobra venom.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Alistrue, but R is false.
d) Asfalse, but R is true.
xi. Choose the option that will complete the given sentence suitably, as per the
given extract.
Normally, a reptile depends on
a) any trick to avoid becoming a meal.
b) the sun’s warm rays to aid digestion.
C) more toxic venom to mobilize mongooses.
d) their speed and agility.
xii. Read the following sentences and choose the option that is FALSE, as per the
given extract.
a) Snakes use their venom to kill their prey.
b) Snakes use their venom to prevent their predators from reaching them.
c) The enzymes in venom digest the meal from the inside before it rots in their
guts.
d) Snakes never ever struggle to avoid becoming prey themselves.
xiii. “If only | had venom”. Why did the author say so?
Choose the correct option to answer the above question.
a) The author love to eat leather-tough meat.
b) Venom will help digesting the leather-tough meat.
¢) He wished to swallow like a python stuffing a deer down its throat.
d) So that the hosts get offended.

Section - B (Writing and Grammar) (30 marks)
You are Sahil / Shalini, the Secretary of Welfare Society of N. G. Public School,
Kanpur. Your school have organised an event “Ban on Plastic Week”. Write a notice
in not more than 50 words for the school notice board to inform the students about a
Poster Making Competition, as part of the event, to create awareness regarding the
harms of plastic.

OR
Write an email to your best friend thanking him for inviting you to his/her birthday
party in not more than 50 words.
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The surroundings of your colony have fallen into neglect resulting in mounds of
garbage, choked drains, overflowing dust bins that are becoming a breeding ground
for mosquitoes and flies. You are Neha / Nitin, a resident of 246, Ambar Colony,
New Delhi. Write a letter to the Editor of a national daily, drawing attention to the
careless attitude of the authorities towards the health of the people. You can refer to
the unit ‘Nature’ of your English Reader along with your own ideas to write the letter.
[Word limit: 100 — 120 words]

OR
To take care of someone who once cared for us is the highest honour. Getting old is
an inevitable process. It is inherent to human beings. Write an article on the topic
‘Caring for the Elderly’. You can refer to the unit ‘Changing Times’ of your English
Reader along with your own ideas to write the article. [Word limit: 100 — 120 words]

The following passage has not been edited. There is an error in
each of the lines, against which a blank is given. Write the
incorrect word and the correction in your answer sheet against the
correct blank number.

Incorrect  Correct

Women who are fond for beauty a)
products are in for a shocks. b)
A recently study says that many C)
beauty products can causing d)

birth defects.

Look at the words and phrases given below. Re-arrange them into meaningful
sentences:

a) coming / best / to / must / tourists / care and protection / our / get / country / of / the
b) foreign exchange / extremely / earning / source / tourism / important / is an / of

c) the / economy / country / is / it/ the / of / improving

d) provides / number / jobs / a/ people / of / large / to / it

Read the dialogue and complete the passage given below:

Interviewer: Why do you want to be a computer programmer?

Ravi: Well, I have always been interested in computers.

Interviewer: Do you have any experience?

Ravi: No, but I'm a fast learner.

Interviewer: What kind of computers have you used?

Ravi: Computer? Uhm, let me see. | have used a Mac. | have also used Windows 10
once.

Interviewer: That’s good.

Ravi recently attended an interview for the selection of a computer programmer. At
the interview, he was asked (a) . To this question he replied that he had
always been interested in computers. When the interviewer asked him (b) :
he replied that he (c) . Finally, the interviewer wanted to know (d)

Ravi replied that he had used a Mac and had also used Windows 10 once in the past.
The interviewer seemed to be pleased with his answers.
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10.

11.

12.

Fill in the blank with the correct form of verb given in the bracket:

Last week | (2) (visit) the trade fair. It (b) (inaugurate)
by the President of India. | was accompanied by my friend who (c) (come)
from the U.S.A. last week.

Do as directed.

a) She visited her mother when she went to London. (Identify the main clause and the
subordinate clause)

b) We (ought to/may) respect elders. (Choose the correct modal)

c) The size of the mangoes (were/was) not good. (Choose the correct verb
which agrees with the subject)

Section — C (Literature) (30 Marks)

Attempt ANY ONE extract out of the two given below:-

1) “1 strongly recommend a quiet week in bed.

We sighed with relief and tucked her up well.”

a) Name the poem and the poet of the above extract.

b) Who is ‘I’ in the above extract?

¢) Why did ‘I’ make such recommendation?

d) Why did the family members sigh with relief?

i)  “Your caring hands, tenderly removing the pain
Your love, your care, your faith gave me strength.”

a) Name the poem and the poet of the above extract.

b) Whose ‘hands’ are referred to as ‘caring’?

¢) What gives strength to the poet?

d) What does ‘tenderly’ mean?

Read the extract and answer the questions that follow: ( Attempt ANY ONE)

)] My heart sank a little. I knew I could not afford caviare, but I could
not very well tell her that. I told the waiter by all means to bring
caviare. For myself I chose the cheapest dish on the menu and that
was a mutton chop.

a) Why did the author’s heart sink a little?

b) What is caviare?

c) What did the narrator order for himself?

d) Why did he choose that dish?

i) He was also going to send a letter with Swami to the headmaster. No
amount of protest from Swami was of any avail; Swami had to go to
school.

a) Who is ‘he’ in the given extract?

b) Why was he sending a letter with Swami to the headmaster?

c) Why was Swami forced to go to school?

d) What story did Swami make earlier to prevent this?

Attempt ANY SIX short answer type questions out of seven given below in 30 —
40 words each:-

a) What did the king proclaim in his kingdom?

b) How was Tommy and Margie’s school different from a regular school?

¢) Why couldn’t Swami deliver the letter to his headmaster even after the school?
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13.

14.

d) The poet loved his grandmother. Illustrate. (Granny’s Tree Climbing)
e) How did the mother help the children to face the life full of struggle?
(My Mother)
f) What impression did the narrator gather of the woman when he met her?
(The Luncheon)
g) What message does the poet convey through the poem, ‘The Children’s Song’?

“My hobby is perhaps a little out of the ordinary. It is the study of crime and
criminals.”
With reference to the given statement, write a character sketch of William Morris.
(70-80 words)

OR
Swami went to school feeling that he was the worst perjurer on earth. Describe his
feelings at this point. Why did he feel like the worst perjurer? (70-80 words)

Imagine you are the narrator of the story, ‘“The Luncheon’. Write a diary entry
expressing your satisfaction on observing the woman put on a lot of weight in the
second meeting. (100 words)

OR
Taking hints from the poem, ‘The Children’s Song’, prepare a speech in 100 words
to be delivered in the morning assembly on the topic: ‘The Role of the Youth in Our
Nation’s Development.’
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